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H=Hl+H;+H3=2,6tan10°+6+0.7
=0458 4+ 6+ 0.7="7.158 m

M b dly Gl SO S 53,5 = P, = Yy, HK,
¢, =30° y2=10°» K, = 0.35
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P, = '/2(13)(7.158)!(9.35) = 161.4 kN/m

P, =P, sin 10° = 161.4(sin 10°) = 28.03 kN/m
P, = P, cos 10° = 161.4(cos 10°) = 158.95 kN/m
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et (m?) (kN/m) (m) (kN-m)
t 6x05=3 70.74 1.15 81.35
2 1,(0.2)6 = 0.6 14.15 0.833 11.79
3 4%07=28 66.02 2.0 132.04
4 6 x 2.6 = 15.6 280.80 2.7 758.16
5 'h(2.6)(0.458) = 0.595 10.71 3.13 33.52
P,=2803 4.0 112.12
Y V=470.45 > 1128.98
=Y M,

Feonerere =™ 23.58 kam‘




:3.5';);5'.! )-G

H 7.158

. &, M 1128.98
(s 5°319) FS ey
KJJJ!J S {overturning) Mﬂ. 37925

= 2.98 > 2—0.K.

3
158.95
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- 158.95

(470 45) tan (2 - 20) 3 (4)(%)(40) +215
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B} My-3 M, 4 112898 - 379.25
T8 Fw "3 470.45

B 4
=0.406 m < — == = 0.666 m

6 470, 6 x 0.406
Gioe = Z 2 (I i j) = = (1 + JTO_) = 180.2 kamz ("’:‘:"«:«)

= 45.99 kN/m?* (&)
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